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I ’» mwn: context and material for proper n¥»»n
a  makeup of P7-m1 — any 3 who can operate like a 17-na (who know how to speak to the D1’ and how to
declare his refusal properly)
i source: opr =2 (+1 to avoid even-numbered 7"1)
1 »pr(in’n ;oa) — to allow “commoners” as judges
ii M =5 (Dapr.pr =4+1 to avoid even-numbered 7"1)
1 commoners —inferred from 2" use of YR’ (1t use — all agree — N¥’Yn must be YRV’ YV T711)
iii ruling: follows p”n, since N’ 1 evidently changed his mind and ruled that only 3 are needed
1 xav: 7”1 must set up a special spot for n¥9n as per v. 1 (MYwn 1NN NNHM)
2 stories of »RMNR who insisted on a 7”1 of 5 nonetheless, in order to publicize the n¥’%n
3 7 may not participate in 7”2 for n¥5n — even if his mother is MYRW, - "HRV72”
(a) n”nn, a7 may judge his fellow, as per the exclusionary phrase in v. 3 — only for
appointments over YR1v’ must he be PnR 19pn
b  proper shoe:
i abym (shoe with top layer and laces) — w2
1 29 (m17) —if 7Y% came and told us that we may do n¥’Yn with a Ypin, we’d heed him
2 127 (qov 1) —if yHR came and told us that we may not do Ypana n¥’Yn, we wouldn’t heed him
(a) Split the difference: using a n2’nna% Y¥in (121 — only if he told us; in the meantime, 72y772)
3 Dispute: whether 9in is n%nna% — n™ says it is, N71°na 12 AT "1 says only Tay’7a — precaution
against using a torn shoe or a half shoe (which come off so easily that it isn’t an act of n¥’%n)
(a) Rejected explanation: concern that the Ypin is “2 steps off” of the shoe (upper layer, laces)
(b) Reason for rejection: then it wouldn’t have been valid Tay»1a either
4 Observation: 27 saw ®»n "1 validating a sandal with strings — but shoes that have loose ties are tied
tighter to make it a full act of n¥'9n — like from sandals worn by Arabs
ii R (like house slipper) — 510
iii sandal must have a heel, otherwise %9109
¢ amputee: if below the knee, 7v3; otherwise, 9108
d variations which are valid:
i someone else’s sandal
ii ~awooden sandal
iii left sandal on the right foot
II 12 mwn: size of shoe
a  may be oversized or undersized, but only
i ifitis big but he can still walk in it — w3
ii  if it is small but still covers a majority of the foot — w3
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